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Selina ICSE Solutions for Class 9 Maths Chapter 26 Co-ordinate Geometry

Exercise 26(A)
Solution 1:
I.I'l 4
Wy=—x-7
3

Dependent variable is
Independent variable is
I z=9y4+4

Dependent variable is

Independent variable is

::iii}x: 5_}’+3
2

Dependent variable is

Independent variable is ¥

1
]

1
V) 3= Z(6x+5
Y ?(I )

Dependent variable is y

Independent variable is

Solution 2:
Let us take the point as

Af8,7) B3.6) C{0,4) D{0,~4) B(3,-2) F(-2,5) G{-3,0) H(5,0) I {-4,-3)

On the graph paper, let us draw the co-ordinate axes XOX’ and YOY’ intersecting at the origin O. With
proper scale, mark the numbers on the two co-ordinate axes.

Now for the point A(8,7)

Step |

Starting from origin O, move 8 units along the positive direction of X axis, to the right of the origin O
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Step Il

Now from there, move 7 units up and place a dot at the point reached. Label this point as A(8,7)
Similarly plotting the other points

B(3.6) C{0,4):D(0,-4) B{3,-2) F{-2,5) G(-3,0) H(5,0)- 1 {-4,-3)

y A&
" BB '

(30 I Hsp X
—_—

5 4 3 1) lq 1 2]563-24 5 6 7 8

)
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Solution 3:
Two ordered pairs are equal.

— Therefore their first components are equal and their second components too are separately equal.

Dx-1y+3)=(4,4)

(x—1Ly+3)=(4.4)
x—1=4 andy+3=4
x=5and y=1

WEx+1,2y-7)=(9.-9)

(3x+1,2y-7)=(9.-9)

Email : favouriteacademy@gmail.com

ix+1=9and 2y-T=-9

ax =18 and ay=—2
8
x 3a.n ¥y

.....

{5x— Ay, y— 3;{] = [4,—4]

Sx—Zv=4. (Ayandy—3x=-4 . (B

Mowe multiplying the equation (B) by 3, we get

MNow adding both the equations (A) and (C) . we get

(S —3y)+@By—9x=Ed+(—-120

—4x=-8
X=2

Putting the value of % in the equation (B), we get
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y—3x=—-4
=y =3x—4
=y=3(2)—4
=:n!|,r:2

Therefore we get,
x=2,y=2

Solution 4:

(i) The abscissa is 2

Now using the given graph the co-ordinate of the given point A is given by (2,2)

(ii) The ordinate is O

Now using the given graph the co-ordinate of the given point B is given by (5,0)

(iii) The ordinate is 3

Now using the given graph the co-ordinate of the given point C and E is given by (-4,3)& (6,3)

(iv) The ordinate is -4

Now using the given graph the co-ordinate of the given point D is given by (2,-4)

(v) The abscissa is 5

Now using the given graph the co-ordinate of the given point H, B and G is given by (5,5) ,(5,0) & (5,-3)
(vi)The abscissa is equal to the ordinate.

Now using the given graph the co-ordinate of the given point I,A & H is given by (4,4),(2,2) & (5,5)
(vii)The ordinate is half of the abscissa

Now using the given graph the co-ordinate of the given point E is given by (6,3)

Solution 5:

(i)The ordinate of a point is its x-co-ordinate.

False.

(ii)The origin is in the first quadrant.

False.

(iii)The y-axis is the vertical number line.

True.

(iv)Every point is located in one of the four quadrants.
True.

(v)If the ordinate of a point is equal to its abscissa; the point lies either in the first quadrant or in the
second quadrant.

False.

(vi)The origin (0,0) lies on the x-axis.

True.

(vii)The point (a,b) lies on the y-axis if b=0.

False
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Solution 6:

Wz_22x=7 2y+1=10- 2%}3

Mow
3-2x=7
3-T=2x
—4=2x
—2=x
Again

ay+1=10- E%y

2y+1= IU—E_}’
2
dy+2=20-5y
dy+ oy =20-2
Qy=18
y=z
- The co-ordinates of the point {_2,2}

2 _,_a 15-4b_2b-1

3 27 7 3
Mow
2¢_,_¢a
3 2
2.::_.:1 3
32
da—3a 1
&
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Again

15-45  2b-1
73
4512k =14b -7
45+7 = 146 +12b
52 = 26b

2=4
. The co-ordinates of the point (g o)
W 5x—(5-x)= %(B—X]; 4-3y= 4%
Now
1

5x—{5-x)= E(B—x]

{5x+x}—5:1§[3—x]

12x-10=3—-x
12x+x=34+10
13x=13
x=1
Again
44y
4—Zp=—_*
Y 3
12-Sy=4+y
12—-4=y+8y
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- The co-ordinates of the point [1_ 4]
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Solution 7:

:jij:ﬂ{z,,j} B(5,0) and C'(8,4)

L L -

Lz Cig
® ]

%

‘o
da
_\L\]_—
&,
A
a
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b
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. B
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-
ot
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RS

&t

ot

After plotting the given points A(2,0), B(8,0) and C(8,4) on a graph paper; joining A with B and B with C.
From the graph it is clear that the vertical distance between the points B(8,0) and C(8,4) is 4 units,
therefore the vertical distance between the points A(2,0) and D must be 4 units. Now complete the
rectangle ABCD

As is clear from the graph D(2,4)

(ii)A(4,2), B(-2,-2) and D(4,-2)



Shop No. 5, “Umang” Vasant Utsav C H S Ltd., Thakur Village, Kandivali E, Mumbai — 400 101 Phone : 8828132765, 9833035468
Email : favouriteacademy@gmail.com

L I
9._

Bl Aidd)
[ ————

]
e
Ly
e,
[
e
Lad
I.:-\J
R
—_
[
L
[
=
—
o
o I

o

After plotting the given points A(4,2), B(-2,2) and D(4,-2) on a graph paper; joining A with B and A with
D. From the graph it is clear that the vertical distance between the points A(4,2) and D(4,-2) is 4 units
and the horizontal distance between the points A(4,2) and B(-2,2) is 6 units , therefore the vertical
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distance between the points B(-2,2)and C must be 4 units and the horizontal distance between the
points B(-2,2) and C must be 6 units. Now complete the rectangle ABCD
As is clear from the graph C(-2,2)

g

0
o
-~

Ade) B igs
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After plotting the given points A(—4,—6) .0(5, 0) and .D(—4, U} on a graph paper; joining Dwith A and o with - From the graphit is clear that

the vertical distance between the points D(—4 O)and A(—4 —6} is I units and the horizontal distance between the points D(—4 0) and
C'{6 0) is 10 units, therefore the vertical distance between the points C'{6 0) and B must be & units and the horizontal distance between the

points A(—4,—6) and k: must be lounits. Mow complete the rectangle ABCn

Asis clear from the graph 3{5 _5}

V) B(10,4)- ©(0,4) 2 D{0,-2)

Cicgs Sana

|
L
=
'
=1
e =
-]
I =
=3
n
iy
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'
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4
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= =
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L ﬂgj A (1:.-;;

NG

1T

After plotting the given points g {10 4) ‘C'[O 4] and D[O _2] on a graph paper; joining Cwith z and o with n- From the graph it is clear that
the vertical distance between the points C'[U 4) and D[O _2) is 6 units and the horizontal distance between the points C"(U 4) and g (10 4} is
10 units , therefore the vertical distance between the points g {10 4) and 4 must he 6 units and the horizontal distance between the points

D(O _2)a|1d Amust be munits, MNow complete the rectangle ABCH

As is clear from the graph x‘l(lO, _2)



Shop No. 5, “Umang” Vasant Utsav C H S Ltd., Thakur Village, Kandivali E, Mumbai — 400 101 Phone : 8828132765, 9833035468
Email : favouriteacademy@gmail.com

Solution 8:
Given A(2,-2), B(8,2) and C(4,-4)

3]

re the vertices of the parallelogram ABCD
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After plotting the given points A(2,-2), B(8,2) and C(4,-4) on a graph paper; joining B with C and B with A
. Now complete the parallelogram ABCD.

As is clear from the graph D(-6,4)

Now from the graph we can find the mid points of the sides AB and CD.

Therefore the co-ordinates of the mid-point of AB is E(3,2) and the co-ordinates of the mid-point of CD is
F(-1,-4)
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Solution 9:

Given ﬂ[—2,4}- 0{4,10} and D{—E,ID} are the vertices of a sguare ABCD
JLY
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After plotting the given poin‘_sA[_2 4){;(4 10) and D(—2 10) on a graph paper; joining o with A and a) withC«.Nov.-‘completethe square
ABCD

As is clear from the graph B (4 4}

Mow from the graph we can find the mid points of the sides B and oo and the co-ordinates of the diagonals of the square.

Therefore the co-ordinates of the mid-point of B is 5(4 7} and the co-ordinates of the mid-point of oD is F{l 10} and the co-ordinates of

the diagonals of the squareis GU 7}
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Solution 10:

.

¥
i

#
33

(L4

a4

A1t

After plotting the given points, we have clearly seen from the graph that
(i} ﬂ(3 5). 3(1 1) and C’(D _1) are collinear.

iii]P[—E,—l]' Q{_L_4} and R{—4,1] are non-collinear,
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Solution 11:
Given ﬂ{i _j.'}

114

104

7

Ak
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After plotting the given point A[5 _7) on a graph paper. Now let us draw a perpendicular JAf from the point A[5 _7) on the x-axis and a

perpendicular Mfrom the point A(S,—T) on the y-axis.

As from the graph clearly we get the co-ordinates of the points M and N

Co-ordinate of the point M is (5’0)

Co-ordinate of the point N is [U,—?]
Solution 12:

Given that in square ARC _,.1{3,4] . B {_2,4} and C"{—E,—l}

¥
1+

a4 A
H%) (3i4il

—
ka4
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s
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S 5 ;
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Solution 13:
After plotting the given poin‘_sA(i 4) ‘B(—2,4) and C'(—2,—1] on a graph paper; joining B with o and B with A.From the graphitis clear that
the vertical distance between the points g (_2,4) and C(—2,—l) is S un its and the horizontal distance between the points g (_2,4) and
A{3,4) is 5 units , therefore the vertical distance between the points A{3,4) and ) must be 5 units and the horizontal distance between the

points C(—2 _1) and 7 must be 5 units. Now complete the square ABCD
Asis clear from the graph D{3 _-1)
Mow the area of the square ABCD is given by

area of ABCD = (side)” = (5Y = 25 units
Given that in rectangle OABC point o isorigin and Od =10 units along x-axis therefore we get O[U 0) and A[IO 0] CAlsoitis given that

A5 =3 units. Therefore we get 3[10,8] and C{O,S)

Py
Y
unt

vy o

gy B,

L]

L
o1

After plotting the points O(O 0) . A(IO 0}. 3(10 8] and C{O 8] on a graph paper; we get the above rectangle AR and the required co-
ordinates of the vertices are A[lU,O]'B{lO,S] and C{O,S}

Exercise 26(B)



Solution 1:

(i} Since x = 3, therefore the value of v can be taken as any real no.

First prepare a table as follows:
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® 3 3 3
¥ -1 0 1
Thus the graph can be drawn as follows:
9
a1
1- i I"
0.5
| | REL)) G
-4 -2 2 4
=054
3,-1
-1 ( :'-
(if)
First prepare a table as follows:
® -3 -3 -3
¥ -1 0 1

Thus the graph can be drawn as follows:
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_.I___
3__
2__
(-3,1)
1__
(-3}0)
i 4 i I i I I
-4 -B -2 -1 1 2 3
(-3-1)
14
a4
34
(iii)
First prepare a table as follows:
X 5 5 5
v -1 0 1

Thus the graph can be drawn as follows:
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r 9
1547
A &)
0.5+
| | | | )
% 4 D 5 4 6
05+
_1__ {51'1:'.
15+

The equation can be written as:
r=—
2

First prepare a table as follows:

X E
2

o] 1

R

£\

a

[

Thus the graph can be drawn as follows:
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il
1547
A i)
0.5+
: | | MY Y
% 4 D > 4 5
05+
M |
154

(v)

First prepare a table as follows:

> 1 0 1
y 4 4 4

Thus the graph can be drawn as follows:
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- SEN ':D‘E)I“y S -
3__
2__
1__
x
! ! ! ! ! ! ! »
-1.5 -1 -05 0.5 1 1.5
(wi)
First prepare a table as follows:
® 1 0 1
b6 -6 -6
Thus the graph can be drawn as follows:
AL-}?
x
—— —
-2 -1.5 -1 -0.5 0.5 1 1.5
o4
a4
-‘ I:'IJ'E':I- I:l:l_,-l;\_:l. I:]._,-Eu:l. h'
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[wii)

First prepare a table as follows:

> -1 0 1
y 2 2 2

Thus the graph can be drawn as follows:

F
4__
'112 I:I_lz 112
- it ]'. { 2}- ! I'. -
x
! ! ! ! ! ! ! »
-1.5 -1 0.5 0:5 1 1.5
a4
{wiii)
First prepare a table as follows:
p -1 0 1
W -6 -6 -6

Thus the graph can be drawn as follows:
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Auy
x
: : | | | | b
-2 -1.5 -1 0.5 0.5 1
a4
A4
* I:-]._,-Eu:l. I:D.l'?f' I:]._,-Eu:l. -.
(i)
First prepare a table as follows:
p -1 0 1
5 5 5
2 2 2

Thus the graph can be drawn as follows:
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¥
44

-1,5/2 0,5/2 1,502
X ."I'. { H. { H.
2__

First prepare a table as follows:

5

]
L]
]

Thus the graph can be drawn as follows:
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(i)

First prepare a table as follows:

- - -
X J " "
) P -

W -1 U 1

Thus the graph can be drawn as follows:

(0,0)
-0.2 0.2 0.4

I:l:l_,_- ]j_:l'.'
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Solution 2:
(i}

First prepare a table as follows:

L}
%]

y -3

Thus the graph can be drawn as follows:

mf'_'y

First prepare a table as follows:

a

Thus the graph can be drawn as follows:
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¥

4__

First prepar

18

a table as follows:

L
[N

Thus the graph can be drawn as follows:
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First prepare a table as follows:

a

a

I
-
=

£\ _

Thus the graph can be drawn as follows:

(v

First prepare a table as follows:

-
i
[y

y g

Thus the graph can be drawn as follows:
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(i)

First prepare a table as follows:

i

[

2| —

1
2

Thus the graph can be drawn as follows:
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[wii)

First prepare a table as follows:
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X -1 0 1
y -4 0 -
Thus the graph can be drawn as follows:
x
| | | ke
T 1 1 Ld
-4 2 4
{wiii)
First prepare a table as follows:
® -1 0 1
3 : 3
2 2

Thus the graph can be drawn as follows:
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i-1,32)

1FH

i1,-3f2)

a4
(ix)
First prepare a table as follows:
® 1 0 1
1 0 3 1
2 2
Thus the graph can be drawn as follows:
T
51

i-1,12)

1FH

{1,-1j2)
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Solution 3:
(i)

First prepare a table as follows

h

[

",

3 3
3

LA

Thus the graph can be drawn as follows

First prepare a table as follows

[

a

5
3

(WA

Thus the graph can be drawn as follows
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F s

2__

¥

First prepare a table as follows:

[
5

N
[N ]

Thus the graph can be drawn as follows:

i1,-1/3)

L

0.5 1 1.
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First prepare a table as follows:

X -1 0 1
y _BB 2 El
2 2

Thus the graph can be drawn as follows:

i1,3¢

Mo

(v)

First prepare a table as follows:

e
|I-.
]
[E

v

5
&

Thus the graph can be drawn as follows:



[
vl

First prepare a table as follows:

F

ooy
Ty

{1,1308)
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=10

[

Thus the graph can be drawn as follows:

x
P
2



[
vl

First prepare a table as follows:

F

ooy
Ty

{1,1308)
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=10

[

Thus the graph can be drawn as follows:

x
P
2



Shop No. 5, “Umang” Vasant Utsav C H S Ltd., Thakur Village, Kandivali E, Mumbai — 400 101 Phone : 8828132765, 9833035468
Email : favouriteacademy@gmail.com

F

v

-

54
-
apale

(wii)

The equation will become:

2x—3y =8

First prepare a table as follows:
¥ -1 0 1
" 10 2
Y -— —— -2

Thus the graph can be drawn as follows:



Shop No. 5, “Umang” Vasant Utsav C H S Ltd., Thakur Village, Kandivali E, Mumbai — 400 101 Phone : 8828132765, 9833035468
Email : favouriteacademy@gmail.com

¥

F

-10+

(wiii)

The equation will become:
Sx-2y=17

First prepare a table as follows:

y ~11 - -6

Thus the graph can be drawn as follows:
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[ix)

First prepare a table as follows:

5

]

5

1
5

Lh| o

h | e

Thus the graph can be drawn as follows
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Solution 4:
(i)
To draw the graph of 3x + 2y = 6 follows the steps:

First prepare a table as below:

X -2 0 2

Y: 6

w
o

Now sketch the graph as shown:

2__
1_..
X
1 1 1 | 1 L | 1 b
1 1 1 1 ] LTI ! 1 1 |
-4 -3 -2 -1 1 3 4 5 ]
44
24

From the graph it can verify that the line intersect x axis at (2,0) and vy at (0,3).
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(i)
To draw the graph of 2% - 5y = 10 follows the steps:

First prepare a table as below:

X -1 0 1

Y 12 2

Mow sketch the graph as shown:

‘VH

From the graph it can verify that the line intersect x axis at {5,0) and y at (0-2).
(iif)

2y _
To draw the graph of ? + 3 =3 follows the steps:
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First prepare a table as below:

X -1 0 1

Y. 525 4.5 3.75

Now sketch the graph as shown:

v

v

O

a4
34

44

From the graph it can verify that the line intersect x axis at {10,0) and y at (0,7.5).
(iv)

2x—=1 y=2

To draw the graph of 3 5 = 0 follows the steps:
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First prepare a table as below:

Email : favouriteacademy@gmail.com

X -1 0 1
1 A
Y 3 3

Now sketch the graph as shown:

o

(-IJ-S)

P

ig]

-4

L Agl

.
L.
g
LA
-
)

1

From the graph it can verify that the line intersect x axis at (_ 10 ’O]aﬂd y at(0,4.5).
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Solution 5:
(i

First draw the graph as follows:

‘FH

-10 -5 10

This is an right trinangle.
Thus the area of the triangle will be:

1 ,
= — xbase x altitude

1
=—x4x]12
2
=24 sq.units
(if)
First draw the graph as follows:
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S

This is a right triangle.

Thus the area of the triangle will be:

A= »hase xaltitude

1
2

9
W — w3
2

I\_J||—=

=6.75 s5q.units

J
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Solution 6:

"\
(i)
vo L

Todraw the graph of y = 3x- 1 and y = 3x + 2 follows the steps:

First prepare a table as below:

X 1 0 1
Y=3x-1 -4 -1 2
Y=3x+2 -1 2 5

Now sketch the graph as shown:

w

'
o
1
P
'
=t
1
e
(U
O
LW
O
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From the graph it can verify that the lines are parallel.
(ii)
To draw the graph of v=x- 3 and v = -x + 5 follows the steps:

First prepare a table as below:

X -1 0 1
Y=x-3 -4 -3 -2
Y=-3+5 6 5 4

Mow sketch the graph as shown:

Nl

i

w

11

From the graph it can verify that the lines are perpendicular.
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.....

X Y.
To draw the graph of 2x- 3y = 6 and ? o ? =il follows the steps:
First prepare a table as below:
X -1 0 1
2 8 : 4
y=Zx-2 - 2 i
3 3 3
= — § X+4+3 2 3 §
2 2 =
Now sketch the graph as shown:
X
1 | | 1 1 M
1 1 1 1 L4
-5 7 s 9 0

From the graph it can verify that the lines are perpendicular.
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{iv)
V)

X y
To draw the graph of 3x + 4y = 24 and Z °F: ? = 1 follows the steps:

First prepare a table as below:

X i | 0 1

3 27 21
Y =-=xX+6 = G s
4 4 4

T 15 3 2

4 4 4

Now sketch the graph as shown:
V'S ¥

From the graph it can verify that the lines are parallel.
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Solution 7:

First prepare a table as follows:

X -1 0 1
Y=x-2 3 -2 -1
Y=2x+1 71 1 3
Y=4 4 4 4

Now the graph can be drawn as follows:

I
(.
O
-
co4-




Shop No. 5, “Umang” Vasant Utsav C H S Ltd., Thakur Village, Kandivali E, Mumbai — 400 101 Phone : 8828132765, 9833035468
Email : favouriteacademy@gmail.com

Solution 8:

First prepare a table as follows:

X -1 0 1
Y=2x-1 -3 -1 1
¥=2x -2 0 2
Y=2x+1 -1 1 3

Now the graph can be drawn as follows:

‘VH

The lines are parallel to each other.
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Solution 9:
To draw the graph of 3x + 2y = & follows the steps:

First prepare a table as below:

X -2
<] 3 0

A

MNow sketch the graph as shown:

From the graph it can verify that the line intersect x axis at (2,0) and y at (0,3), therefore the co ordinates of P{x-axis) and Qy-axis) are (2,0) and

(0,3) respectively.
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Solution 10:

First prepare a table as follows:

x

(WY
o
N

<
N

l\)|uu
o

Thus the graph can be drawn as shown:

(-3J 3)

|
o

|
o

'
e
——t
b0

S =

g

44

(i)
Fory=3wehavex=-
(ii)

Fory=-2wehavex=7

~
]

1]
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Solution 11:

First prepare a table as follows:

v e -3

I | D

The graph of the equation can be drawn as follows:

_o-9i4)
I:DJ-S:I
{-1,-1504)

From the graph it can be verify that
If x=4thevalue ofy=0

If x=0thevalue of y=-3.
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Solution 12:

First prepare a table as follows:

X -1 0 1
¥ 2] 5 15
4 4

The graph of the equation can be drawn as follows:

104

25/4)
(0,5
(1,15/4)

From the graph it can be verified that:
fory =10, the value of x = -4,

for x = & the value of y=-5.



Shop No. 5, “Umang” Vasant Utsav C H S Ltd., Thakur Village, Kandivali E, Mumbai — 400 101 Phone : 8828132765, 9833035468
Email : favouriteacademy@gmail.com

Solution 13:

The equations can be written as follows:

-~

y=2-x
1
= _5
Y 5 (x—5)
__*
V=3

First prepare a table as follows:

1 W
, oy Y= =5)| y=——
x =2 -% II!I'II 2 ( :I IIS"I 3
4 1
-1 3
-3 Z
3
0 2 _E 0
2
1 1 2 1
3

Thus the graph can be drawn as follows:
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L Agl

From the graph it is clear that the equation of lines are passes through the same point.

Exercise 26(C)

Solution 1:

The angle which a straight line makes with the positive direction of x-axis (measured in anticlockwise
direction) is called inclination o the line.

The inclination of a line is usually denoted by 6

(i)The inclination is 6 = 45°

(ii) The inclination is © = 135°

(iii) The inclination is 6 = 30°

Solution 2:

(i)The inclination of a line parallel to x-axis is 6 = 0°

(ii)The inclination of a line perpendicular to x-axis is 8 = 90°
(iii) The inclination of a line parallel to y-axis is 8 = 90°

(iv) The inclination of a line perpendicular to y-axis is 6 = 0°
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Solution 3:

If G is the inclination of a line; the slope of the line is tan @ and is usually denoted by letter m.
[iMHere the inclination of a line is 0% then 8 =0°
Therefore the slope of the lineism=tan 0° =0

[iilHere the inclination of a line is 30° then & = 30°

1

Therefore the slope of the lineism=tan8=30%= ﬁ

[iiijHere the inclination of a lineis 452, then 8 = 45°
Therefore the slope of the lingis m=tan 45 =1
(iv)Here the inclination of a line is 8079 then & = 407

Therefore the slope of the lingis m = tan 0% =+/3
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Solution 4:

If tan 8 is the slope of a line; then inclination of the lineistan @

((lHere the slope of lineis 0: thentan8=0

Moy

tan =10

tan & = tan (O°
g=q"

Therefore the inclination of the given lineisG=0°

[iilHere the slope of lineis 1; thentang8 =1

Mow

tan 8=1

tan & = tan 45"
g=45"

Therefore the inclination of the given line is G = 45°

[iiilHere the slope of lineis s 3 ;thentan8=3

Moy

tan & = \E

tan & = tan 60"
&= 60"

Therefore the inclination of the given line is G = 60°

1
(iv)Here the slope of line is ﬁ - then [aN 0=

1
J3
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Mowy

1
tan & = —
N

tan & = tan 30"
g=7z0"

Therefore the inclination of the given line is 8 = 30°

Solution 5:

[i}For any line which is parallel to x-axis, the inclination is 8 = 0°
Therefore, Slope(m) =tan8=tan0%=0

(i) For any line which is perpendicular to x-axis, the inclination is 8 = 90°
Therefore, Slope(m) = tan 8 = tan 907 = ={not defined)

(iii) For any line which is parallel to y-axis, the inclination is 8 = @0°
Therefore, Slope(m) = tan 8 = tan 907 = ={not defined)

(iv) For any line which is perpendicular to y-axis, the inclination is 8 = 0

Therefore, Slope(m) =tan8=tan0%=0
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Solution 6:

Equation of any straight line in the form v = mx + ¢, where slope = m{co-efficient of x) and

y-intercept = clconstant term)

x+3y+5=0
x+3p+5=1
Ay=—x-1
3 —-x=5
T
= _—1x+ —E
Y73 3
Therefore,

slope = co-efficient of x = _E

y-intercept = constant term = —E

I 3x—yp-8=0

Ax—y—8=10
—y=—3x4+4
y= 3x+(—8]|

Therefore,
slope = co-efficient of x=3

y-intercept = constant term =8

.....
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Sx=4y+7
4y =5x-"7
Sx="1
YTy
v=2er(-])
B} 4
Therefore,

: 5
slope = co-efficient of x = 7

y-ntercept = constant term = —

V) x=5y-4
x=5y-4
Sy=x+4
_x+4
R
=—x+—-
g 5
Therefore,

slope = co-efficient of x =

y4ntercept = constant term =

W y=Tx-2

yv=T7x-2
y="Tx+{-2)

Email : favouriteacademy@gmail.com
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Therefore,
slope= co-efficient of x=7

y-intercept = constant term =-2

[wi) 3}- =7
A =T
Ap=0.x4+7
= 0 x+?
TR
7
=0.x4+—
u 3
Therefore,

slope= co-efficient of x =0

: 7
vAantercept = constant term = —

[wii) 4_}""9: 0
dy4+9=10
dy=0.-x-59
_Dx_ﬁ
T3y
2
=0 x+| —=
e ( 4]
Therefare,

slope= co-efficient of x=C

: 9
vantercept = constant term = ——
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Solution 7:
[(}Given
Slope is 2, thereforem= 2

Y-intercept is 3, therefore c=3

Therefore,
y=mrtc
y=2x43

Therefore the equation of the required lineisy = 2x+ 3

[iNGiven
Slopeis 5, therefore m=5

Y-intercept is -8, therefore c = -8

Therefore,
y=mxtc
y=5Sx+-8

Therefore the equation of the required line isv = Sx + (-8)

[{ii)Given
Slope is -4, therefore m = -4

Y-intercept is 2, thereforec=2

Therefore,
y=mitc
y=—dx+2

Therefore the equation of the required line isy =-dx + 2

[iv)Given
Slope is -3, thereforem =-3
Y-intercept is -1, therefore c=-1

Therefore,
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y=mrtc

y=-—"x-1

Therefore the equation of the required lineisy =-3x-1
(v)Given

Slopeis O, thereforem=10

Y-intercept is -5, therefore c = -5

Therefore,
y=mxrte
y=0-z+{-5)
y=-0

Therefore the equation of the required line isy =-5
(wi)Given
Slopeis 0, thereforem=10

Y-intercept is 0, thereforec=0

Therefore,
y=mrtc
y=0.x+0
y=10

Therefore the equation of the required lineisy =0

Solution 8:
Given line is 3x + 4y =12
The graph of the given line is shown below.
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Jhy

o S

Clearly from the graph we can find the y-intercept.
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The required y-intercept is 3.

Solution 9:

Given line is

2x—3y—-18=0

The graph of the given line is shown below.
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9__

8__

Clearly from the graph we can find the y-intercept.



Shop No. 5, “Umang” Vasant Utsav C H S Ltd., Thakur Village, Kandivali E, Mumbai — 400 101 Phone : 8828132765, 9833035468
Email : favouriteacademy@gmail.com

The required y-intercept is -6

Solution 10:

Given line is

X+y=5

The graph of the given line is shown below.
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From the given line x + vy = 5, we get
x+y=5

y=—-x+3

y:{—l]-x+5 ...... 8]

Againwe know that equation of any straight ling in the form y = mx + ¢, where m is the gradient and ¢ is the intercept. Againwe have ifslope of 3
line is tan & then inclination of the lineis &

Now from the equation (A) . we have

m=-1
tan&=-1
tan & = tan 135"
8=135"
Andc=5

Therefore the required inclination is 8 = 1352 and y-interceptisc=5



